
Weak statement. Thesis statement should be
sure not based on ifs and buts. At least make it
3 sentences

The argument is not
maintaing or averting
peace, The argument
is who controls it. On,
whose choice does it
depend.

Political and
economic hegemory?
Both in world order 
and in organisations?
sanctions? pressure
groups? proxies?
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Either attempt it as an argumentative or don't distribute it equally
focus should be on why do they have such control on world peace.
how does this effect the global society. And how can this control be taken
from them?

Or if you want to do argumentative
thesis: World peace is the choice of super power/ Global society collectively decides world peace
Anti-thesis: Global society collectively decides world peace/ World peace is the choice of super power
Synthesis: Superpowers can easily supercede the collective decisions/ Global efforts have the power to disuade
superpowers.
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 Category Total marks Obtained marks 

 
Content 

Qualitative analysis 10 2 

Quantitative analysis 10 2 

Validity & Reliability 10 0 

Relevance 10 1 

 
Language 

Sentence structure 5 1 

Vocabulary 5 1 

Clarity 5 1 

Command of language 5 1 

Expression 5 1 

 
Structure 

Outline 5 1 

Introduction 5 1 

Body paragraphs 5 1 

Conclusion 5 1 

Coherence Cohesion  5 0 

Coherence 10 0 

Total 14 

 


